Electronic Journal of Mathematical Analysis and Applications Vol. 5(2) July 2017, pp. 138-146 . ISSN: 2090-729(online) http://fcag-egypt.com/Journals/EJMAA/

ON A THREE-DIMENSIONAL SYSTEM OF NONLINEAR DIFFERENCE EQUATIONS

J. L. WILLIAMS

ABSTRACT. We investigate the solutions to the following system of nonlinear difference equations,

$$\begin{cases} x_{n+1} = \frac{f(z_n)}{y_{n-1}}, \\ y_{n+1} = \frac{f(x_n)}{z_{n-1}} \\ z_{n+1} = \frac{f(y_n)}{x_{n-1}} \\ z_{n+1} = \frac{f(y_n)}{x_{n-1}} & \text{for } n \in N_0, \end{cases}$$

where $x_{-1} = \alpha, y_{-1} = \beta, z_{-1} = \gamma, x_0 = \lambda, y_0 = \mu$, and $z_0 = \omega$ are positive real numbers.

1. INTRODUCTION

There are various results on systems of difference equations, see [1, 4, 10, 11, 2]. Understanding the theory and dynamics of such systems play a crucial role in mathematics, physics, and biology, see [8, 7, 3].

Consider the following system of difference equations,

$$\begin{cases} x_{n+1} = \frac{f(z_n)}{y_{n-1}}, \\ y_{n+1} = \frac{f(x_n)}{z_{n-1}} \\ z_{n+1} = \frac{f(y_n)}{x_{n-1}} & \text{for } n \in N_0, \end{cases}$$
(1)

where $x_{-1} = \alpha$, $y_{-1} = \beta$, $z_{-1} = \gamma$, $x_0 = \lambda$, $y_0 = \mu$, and $z_0 = \omega$ are positive numbers.

Next are some papers on periodic and positive solutions to three-dimensional systems of nonlinear difference equations:

Tarek F. Ibrahim studied in [5] the periodic solutions of the following threedimensional max-type cyclic system of difference equations

$$x_{n+1} = \max\left\{\frac{\alpha}{x_n}, y_n\right\}, y_{n+1} = \max\left\{\frac{\alpha}{y_n}, z_n\right\}, z_{n+1} = \max\left\{\frac{\alpha}{z_n}, x_n\right\}.$$

²⁰¹⁰ Mathematics Subject Classification. 39A05, 39A21, 39A23.

Key words and phrases. Periodic Solutions, nonlinear system, oscillatory. Submitted August 31, 2016.

EJMAA-2016/4(2)

M. R. S. Kulenović and Z. Nurkanović in [6] studied the global behavior of the following rational system of nonlinear difference equations

$$x_{n+1} = \frac{a + x_n}{b + y_n}, y_{n+1} = \frac{c + y_n}{d + z_n}, z_{n+1} = \frac{e + z_n}{f + x_n}.$$

Stevo Stević in [9] studied the stability of the following rational system of nonlinear difference equations

$$x_{n+1} = \frac{a_1 x_{n-2}}{b_1 y_n z_{n-1} x_{n-2} + c_1}, y_{n+1} = \frac{a_2 y_{n-2}}{b_2 z_n x_{n-1} y_{n-2} + c_2}, z_{n+1} = \frac{a_3 z_{n-2}}{b_3 x_n y_{n-1} z_{n-2} + c_3}.$$

2. Assumptions

The function f will have one of the following forms:

$$f(t) = 1 \tag{2}$$

$$f(t) = t \tag{3}$$

$$f(t) = \begin{cases} A, & \text{if } t > 0\\ B, & \text{if } t < 0 \end{cases}$$

$$\tag{4}$$

$$f(t) = \begin{cases} At, & \text{if } t < 0\\ Bt, & \text{if } t > 0 \end{cases}$$

$$(5)$$

where $A, B \in \mathbb{R}$ such that $A^2 + B^2 \neq 0$.

3. Main Results

Theorem 3.1. Let (2) hold and suppose that x_{-1} , y_{-1} , z_{-1} , x_0 , y_0 , and z_0 are positive real numbers. Also, let $\{x_n, y_n, z_n\}$ be a solution of the system of equations (1) with $x_{-1} = \alpha$, $y_{-1} = \beta$, $z_{-1} = \gamma$, $x_0 = \lambda$, $y_0 = \mu$, and $z_0 = \omega$. Then all solutions of (1) are of the following:

$$\begin{aligned} x_{12n+1} &= \frac{1}{\beta}, \quad y_{12n+1} &= \frac{1}{\gamma}, \quad z_{12n+1} &= \frac{1}{\alpha} \\ x_{12n+2} &= \frac{1}{\mu}, \quad y_{12n+2} &= \frac{1}{\omega}, \quad z_{12n+2} &= \frac{1}{\lambda} \\ x_{12n+3} &= \gamma, \quad y_{12n+3} &= \alpha, \quad z_{12n+3} &= \beta \\ x_{12n+4} &= \omega, \quad y_{12n+4} &= \lambda, \quad z_{12n+4} &= \mu \\ x_{12n+5} &= \frac{1}{\alpha}, \quad y_{12n+5} &= \frac{1}{\beta}, \quad z_{12n+5} &= \frac{1}{\gamma} \\ x_{12n+6} &= \frac{1}{\lambda}, \quad y_{12n+6} &= \frac{1}{\mu}, \quad z_{12n+6} &= \frac{1}{\omega} \\ x_{12n+7} &= \beta, \quad y_{12n+7} &= \gamma, \quad z_{12n+7} &= \alpha \\ x_{12n+8} &= \mu, \quad y_{12n+8} &= \omega, \quad z_{12n+8} &= \lambda \\ x_{12n+9} &= \frac{1}{\gamma}, \quad y_{12n+9} &= \frac{1}{\alpha}, \quad z_{12n+9} &= \frac{1}{\beta} \\ x_{12n+10} &= \frac{1}{\omega}, \quad y_{12n+10} &= \frac{1}{\lambda}, \quad z_{12n+10} &= \frac{1}{\mu} \\ x_{12n+11} &= \alpha, \quad y_{12n+11} &= \beta, \quad z_{12n+11} &= \gamma \\ x_{12n+12} &= \lambda, \quad y_{12n+12} &= \mu, \quad z_{12n+12} &= \omega. \end{aligned}$$

Proof. The result holds for n = 0. Now suppose the result is true for some k > 0, we have the following:

$$\begin{aligned} x_{12k+1} &= \frac{1}{\beta}, \quad y_{12k+1} &= \frac{1}{\gamma}, \quad z_{12k+1} &= \frac{1}{\alpha} \\ x_{12k+2} &= \frac{1}{\mu}, \quad y_{12k+2} &= \frac{1}{\omega}, \quad z_{12k+2} &= \frac{1}{\lambda} \\ x_{12k+3} &= \gamma, \quad y_{12k+3} &= \alpha, \quad z_{12k+3} &= \beta \\ x_{12k+4} &= \omega, \quad y_{12k+4} &= \lambda, \quad z_{12k+4} &= \mu \\ x_{12k+5} &= \frac{1}{\alpha}, \quad y_{12k+5} &= \frac{1}{\beta}, \quad z_{12k+5} &= \frac{1}{\gamma} \\ x_{12k+6} &= \frac{1}{\lambda}, \quad y_{12k+6} &= \frac{1}{\mu}, \quad z_{12k+6} &= \frac{1}{\omega} \\ x_{12k+7} &= \beta, \quad y_{12k+7} &= \gamma, \quad z_{12k+7} &= \alpha \\ x_{12k+8} &= \mu, \quad y_{12k+8} &= \omega, \quad z_{12k+8} &= \lambda \\ x_{12k+9} &= \frac{1}{\gamma}, \quad y_{12k+8} &= \omega, \quad z_{12k+8} &= \lambda \\ x_{12k+9} &= \frac{1}{\gamma}, \quad y_{12k+9} &= \frac{1}{\alpha}, \quad z_{12k+9} &= \frac{1}{\beta} \\ x_{12k+10} &= \frac{1}{\omega}, \quad y_{12k+10} &= \frac{1}{\lambda}, \quad z_{12k+10} &= \frac{1}{\mu} \\ x_{12k+11} &= \alpha, \quad y_{12k+11} &= \beta, \quad z_{12k+11} &= \gamma \\ x_{12k+12} &= \lambda, \quad y_{12k+12} &= \mu, \quad z_{12k+12} &= \omega. \end{aligned}$$

Also, for k + 1 we have the following:

$$\begin{split} x_{12k+13} &= \frac{1}{y_{12k+11}} = \frac{1}{\beta}, \quad y_{12k+13} = \frac{1}{z_{12k+11}} = \frac{1}{\gamma}, \quad z_{12k+13} = \frac{1}{x_{12k+11}} = \frac{1}{\alpha} \\ x_{12k+14} &= \frac{1}{y_{12k+12}} = \frac{1}{\mu}, \quad y_{12k+14} = \frac{1}{z_{12k+12}} = \frac{1}{\omega}, \quad z_{12k+14} = \frac{1}{x_{12k+12}} = \frac{1}{\lambda} \\ x_{12k+15} &= \frac{1}{y_{12k+13}} = \gamma, \quad y_{12k+15} = \frac{1}{z_{12k+13}} = \alpha, \quad z_{12k+15} = \frac{1}{x_{12k+13}} = \beta \\ x_{12k+16} &= \frac{1}{y_{12k+14}} = \omega, \quad y_{12k+16} = \frac{1}{z_{12k+14}} = \lambda, \quad z_{12k+16} = \frac{1}{x_{12k+14}} = \mu \\ x_{12k+17} &= \frac{1}{y_{12k+15}} = \frac{1}{\alpha}, \quad y_{12k+17} = \frac{1}{z_{12k+15}} = \frac{1}{\beta}, \quad z_{12k+17} = \frac{1}{x_{12k+16}} = \frac{1}{\gamma} \\ x_{12k+18} &= \frac{1}{y_{12k+16}} = \frac{1}{\lambda}, \quad y_{12k+18} = \frac{1}{z_{12k+16}} = \frac{1}{\mu}, \quad z_{12k+18} = \frac{1}{x_{12k+16}} = \frac{1}{\omega} \\ x_{12k+19} &= \frac{1}{y_{12k+16}} = \beta, \quad y_{12k+19} = \frac{1}{z_{12k+17}} = \gamma, \quad z_{12k+19} = \frac{1}{x_{12k+16}} = \frac{1}{\omega} \\ x_{12k+20} &= \frac{1}{y_{12k+18}} = \mu, \quad y_{12k+20} = \frac{1}{z_{12k+19}} = \frac{1}{\alpha}, \quad z_{12k+20} = \frac{1}{x_{12k+19}} = \frac{1}{\beta} \\ x_{12k+21} &= \frac{1}{y_{12k+20}} = \frac{1}{\gamma}, \quad y_{12k+22} = \frac{1}{z_{12k+19}} = \frac{1}{\alpha}, \quad z_{12k+21} = \frac{1}{x_{12k+19}} = \frac{1}{\beta} \\ x_{12k+22} &= \frac{1}{y_{12k+20}} = \frac{1}{\omega}, \quad y_{12k+22} = \frac{1}{z_{12k+20}} = \frac{1}{\lambda}, \quad z_{12k+22} = \frac{1}{x_{12k+20}} = \frac{1}{\mu} \\ x_{12k+23} &= \frac{1}{y_{12k+20}} = \alpha, \quad y_{12k+23} = \frac{1}{z_{12k+20}} = \beta, \quad z_{12k+23} = \frac{1}{x_{12k+20}} = \gamma \\ x_{12k+24} &= \frac{1}{y_{12k+22}} = \lambda, \quad y_{12k+24} = \frac{1}{z_{12k+24}} = \mu, \quad z_{12k+24} = \frac{1}{x_{12k+22}} = \omega. \end{split}$$

EJMAA-2016/4(2)

Therefore the result is true for every $k \in N_0$. This concludes the proof.

Theorem 3.2. Suppose that (2) hold and let $\{x_n, y_n, z_n\}$ be a solution of the system of equations (1). Also, assume that x_{-1} , y_{-1} , z_{-1} , x_0 , y_0 , and z_0 are positive real numbers. Then all solutions of (1) are periodic with period twelve.

Proof. By (2), we have the following equal:

$$\begin{split} x_{n+1} &= \frac{f(z_n)}{y_{n-1}} = \frac{1}{y_{n-1}}, \quad y_{n+1} = \frac{f(x_n)}{z_{n-1}} = \frac{1}{z_{n-1}}, \quad z_{n+1} = \frac{f(y_n)}{x_{n-1}} = \frac{1}{x_{n-1}} \\ x_{n+2} &= \frac{f(z_{n+1})}{y_n} = \frac{1}{y_n}, \quad y_{n+2} = \frac{f(x_{n+1})}{z_n} = \frac{1}{z_n}, \quad z_{n+2} = \frac{f(y_{n+1})}{x_n} = \frac{1}{x_n} \\ x_{n+3} &= \frac{f(z_{n+2})}{y_{n+1}} = z_{n-1}, \quad y_{n+3} = \frac{f(x_{n+2})}{z_{n+1}} = x_{n-1}, \quad z_{n+3} = \frac{f(y_{n+2})}{x_{n+1}} = y_{n-1} \\ x_{n+4} &= \frac{f(z_{n+3})}{y_{n+2}} = z_n, \quad y_{n+4} = \frac{f(x_{n+3})}{z_{n+2}} = x_n, \quad z_{n+4} = \frac{f(y_{n+3})}{x_{n+2}} = y_n \\ x_{n+4} &= \frac{f(z_{n+3})}{y_{n+2}} = z_n, \quad y_{n+4} = \frac{f(x_{n+3})}{z_{n+2}} = x_n, \quad z_{n+4} = \frac{f(y_{n+3})}{x_{n+2}} = y_n \\ x_{n+4} &= \frac{f(z_{n+4})}{y_{n+3}} = \frac{1}{x_{n-1}}, \quad y_{n+5} = \frac{f(x_{n+4})}{z_{n+3}} = x_n, \quad z_{n+5} = \frac{f(y_{n+4})}{x_{n+3}} = \frac{1}{z_{n-1}} \\ x_{n+5} &= \frac{f(z_{n+4})}{y_{n+3}} = \frac{1}{x_{n-1}}, \quad y_{n+5} = \frac{f(x_{n+4})}{z_{n+3}} = \frac{1}{y_{n-1}}, \quad z_{n+5} = \frac{f(y_{n+4})}{x_{n+3}} = \frac{1}{z_{n-1}} \\ x_{n+6} &= \frac{f(z_{n+5})}{y_{n+4}} = \frac{1}{x_n}, \quad y_{n+6} = \frac{f(x_{n+5})}{z_{n+5}} = z_{n-1}, \quad z_{n+7} = \frac{f(y_{n+6})}{x_{n+5}} = x_{n-1} \\ x_{n+7} &= \frac{f(z_{n+6})}{y_{n+5}} = y_{n-1}, \quad y_{n+7} = \frac{f(x_{n+6})}{z_{n+5}} = z_n, \quad z_{n+8} = \frac{f(y_{n+7})}{x_{n+6}} = x_n \\ x_{n+9} &= \frac{f(z_{n+7})}{y_{n+6}} = y_n, \quad y_{n+8} = \frac{f(x_{n+7})}{z_{n+6}} = z_n, \quad z_{n+8} = \frac{f(y_{n+8})}{x_{n+7}} = \frac{1}{y_{n-1}} \\ x_{n+10} &= \frac{f(z_{n+8})}{y_{n+7}} = \frac{1}{z_n}, \quad y_{n+10} = \frac{f(x_{n+8})}{z_{n+7}} = \frac{1}{x_n}, \quad z_{n+10} = \frac{f(y_{n+8})}{x_{n+8}} = \frac{1}{y_n} \\ x_{n+11} &= \frac{f(z_{n+10})}{y_{n+8}} = x_{n-1}, \quad y_{n+11} = \frac{f(x_{n+10})}{z_{n+9}} = y_{n-1}, \quad z_{n+11} = \frac{f(y_{n+10})}{x_{n+9}} = z_{n-1} \\ x_{n+12} &= \frac{f(z_{n+11})}{y_{n+10}} = x_n, \quad y_{n+12} = \frac{f(x_{n+11})}{z_{n+10}} = y_n, \quad z_{n+12} = \frac{f(y_{n+11})}{x_{n+10}} = z_n. \\ \end{bmatrix}$$

This concludes the proof.

To see the periodic behavior of $\{x_n, y_n, z_n\}$, observe the following three diagrams with $x_1 = 1$, $x_2 = 2$, $y_1 = 3$, $y_2 = 4$, $z_1 = 5$, and $z_2 = 6$:



141

Theorem 3.3. Let (3) hold and suppose that x_{-1} , y_{-1} , z_{-1} , x_0 , y_0 , and z_0 are positive real numbers. Also, let $\{x_n, y_n, z_n\}$ be a solution of the system of equations (1) with $x_{-1} = \alpha$, $y_{-1} = \beta$, $z_{-1} = \gamma$, $x_0 = \lambda$, $y_0 = \mu$, and $z_0 = \omega$. Then all solutions of (1) are of the following:

$$\begin{aligned} x_{6n-5} &= \frac{\omega}{\beta}, \quad y_{6n-5} &= \frac{\lambda}{\gamma}, \quad z_{6n-5} &= \frac{\mu}{\alpha} \\ x_{6n-4} &= \frac{1}{\alpha}, \quad y_{6n-4} &= \frac{1}{\beta}, \quad z_{6n-4} &= \frac{1}{\gamma} \\ x_{6n-3} &= \frac{1}{\lambda}, \quad y_{6n-3} &= \frac{1}{\mu}, \quad z_{6n-3} &= \frac{1}{\omega} \\ x_{6n-2} &= \frac{\beta}{\omega}, \quad y_{6n-2} &= \frac{\gamma}{\lambda}, \quad z_{6n-2} &= \frac{\alpha}{\mu} \\ x_{6n-1} &= \alpha, \quad y_{6n-1} &= \beta, \quad z_{6n-1} &= \gamma \\ x_{6n} &= \lambda, \quad y_{6n} &= \mu, \quad z_{6n} &= \omega. \end{aligned}$$

Proof. The result holds for n = 0. Now suppose the result is true for some k > 0, we have the following:

$$x_{6k-5} = \frac{\omega}{\beta}, \quad y_{6k-5} = \frac{\lambda}{\gamma}, \quad z_{6k-5} = \frac{\mu}{\alpha}$$
$$x_{6k-4} = \frac{1}{\alpha}, \quad y_{6k-4} = \frac{1}{\beta}, \quad z_{6k-4} = \frac{1}{\gamma}$$
$$x_{6k-3} = \frac{1}{\lambda}, \quad y_{6k-3} = \frac{1}{\mu}, \quad z_{6k-3} = \frac{1}{\omega}$$
$$x_{6k-2} = \frac{\beta}{\omega}, \quad y_{6k-2} = \frac{\gamma}{\lambda}, \quad z_{6k-2} = \frac{\alpha}{\mu}$$
$$x_{6k-1} = \alpha, \quad y_{6k-1} = \beta, \quad z_{6k-1} = \gamma$$
$$x_{6k} = \lambda, \quad y_{6k} = \mu, \quad z_{6k} = \omega.$$

Also, for k + 1 we have the following:

$$\begin{aligned} x_{6k+1} &= \frac{f\left(z_{6k}\right)}{y_{6k-1}} = \frac{z_{6k}}{y_{6k-1}} = \frac{\omega}{\beta} \\ y_{6k+1} &= \frac{f\left(x_{6k}\right)}{z_{6k-1}} = \frac{x_{6k}}{z_{6k-1}} = \frac{\lambda}{\gamma} \\ z_{6k+1} &= \frac{f\left(y_{6k}\right)}{x_{6k-1}} = \frac{y_{6k}}{x_{6k-1}} = \frac{\mu}{\alpha} \\ x_{6k+2} &= \frac{f\left(z_{6k+1}\right)}{y_{6k}} = \frac{z_{6k+1}}{y_{6k}} = \frac{\mu/\alpha}{\mu} = \frac{1}{\alpha} \\ y_{6k+2} &= \frac{f\left(x_{6k+1}\right)}{z_{6k}} = \frac{x_{6k+1}}{z_{6k}} = \frac{\omega/\beta}{\omega} = \frac{1}{\beta} \\ z_{6k+2} &= \frac{f\left(y_{6k+1}\right)}{x_{6k}} = \frac{y_{6k+1}}{z_{6k}} = \frac{\lambda/\gamma}{\lambda} = \frac{1}{\gamma} \\ x_{6k+3} &= \frac{f\left(z_{6k+2}\right)}{y_{6k+1}} = \frac{z_{6k+2}}{y_{6k+1}} = \frac{1/\alpha}{\lambda/\gamma} = \frac{1}{\lambda} \\ y_{6k+3} &= \frac{f\left(x_{6k+2}\right)}{z_{6k+1}} = \frac{x_{6k+2}}{z_{6k+1}} = \frac{1/\alpha}{\mu/\alpha} = \frac{1}{\mu} \end{aligned}$$

$$z_{6k+3} = \frac{f(y_{6k+2})}{x_{6k+1}} = \frac{y_{6k+2}}{x_{6k+1}} = \frac{1/\beta}{\omega/\beta} = \frac{1}{\omega}$$

$$x_{6k+4} = \frac{f(z_{6k+3})}{y_{6k+3}} = \frac{z_{6k+3}}{y_{6k+2}} = \frac{1/\omega}{1/\beta} = \frac{\beta}{\omega}$$

$$y_{6k+4} = \frac{f(x_{6k+3})}{z_{6k+3}} = \frac{x_{6k+3}}{z_{6k+2}} = \frac{1/\lambda}{1/\gamma} = \frac{\gamma}{\lambda}$$

$$z_{6k+4} = \frac{f(y_{6k+3})}{x_{6k+3}} = \frac{y_{6k+3}}{z_{6k+2}} = \frac{1/\mu}{1/\alpha} = \frac{\alpha}{\mu}$$

$$x_{6k+5} = \frac{f(z_{6k+4})}{y_{6k+3}} = \frac{z_{6k+4}}{y_{6k+3}} = \frac{\alpha/\mu}{1/\omega} = \beta$$

$$z_{6k+5} = \frac{f(y_{6k+4})}{z_{6k+3}} = \frac{y_{6k+4}}{z_{6k+3}} = \frac{\gamma/\lambda}{1/\omega} = \gamma$$

$$z_{6k+5} = \frac{f(y_{6k+4})}{x_{6k+3}} = \frac{y_{6k+4}}{x_{6k+3}} = \frac{\gamma/\lambda}{1/\lambda} = \gamma$$
$$x_{6k+6} = \frac{f(z_{6k+5})}{y_{6k+4}} = \frac{z_{6k+5}}{y_{6k+4}} = \frac{\gamma}{\gamma/\lambda} = \lambda$$
$$y_{6k+6} = \frac{f(x_{6k+5})}{z_{6k+4}} = \frac{x_{6k+5}}{z_{6k+4}} = \frac{\alpha}{\alpha/\mu} = \mu$$
$$z_{6k+6} = \frac{f(y_{6k+5})}{x_{6k+4}} = \frac{y_{6k+5}}{x_{6k+4}} = \frac{\beta}{\beta/\omega} = \omega.$$

Therefore the result is true for every $k \in N_0$. This concludes the proof.

To see the periodic behavior of $\{x_n, y_n, z_n\}$, observe the following three diagrams with $x_1 = 1$, $x_2 = 2$, $y_1 = 3$, $y_2 = 4$, $z_1 = 5$, and $z_2 = 6$:



Theorem 3.4. Let (4) hold with A, B < 0 and suppose that $x_{-1}, y_{-1}, z_{-1}, x_0, y_0$, and z_0 are positive real numbers. Also, let $\{x_n, y_n, z_n\}$ be a solution of the system of equations (1) with $x_{-1} = \alpha$, $y_{-1} = \beta$, $z_{-1} = \gamma$, $x_0 = \lambda$, $y_0 = \mu$, and $z_0 = \omega$. Then all solutions of (1) are the following:

$$\begin{split} x_{12n+1} &= \frac{A}{\beta} \left(\frac{A}{B}\right)^{3n}, \quad y_{12n+1} &= \frac{A}{\gamma} \left(\frac{A}{B}\right)^{3n}, \quad z_{12n+1} &= \frac{A}{\alpha} \left(\frac{A}{B}\right)^{3n} \\ x_{12n+2} &= \frac{B}{\mu} \left(\frac{B}{A}\right)^{3n}, \quad y_{12n+2} &= \frac{B}{\omega} \left(\frac{B}{A}\right)^{3n}, \quad z_{12n+2} &= \frac{B}{\lambda} \left(\frac{B}{A}\right)^{3n} \\ x_{12n+3} &= \gamma \left(\frac{B}{A}\right)^{3n+1}, \quad y_{12n+3} &= \alpha \left(\frac{B}{A}\right)^{3n+1}, \quad z_{12n+3} &= \beta \left(\frac{B}{A}\right)^{3n+1} \\ x_{12n+4} &= \omega \left(\frac{A}{B}\right)^{3n+1}, \quad y_{12n+4} &= \lambda \left(\frac{A}{B}\right)^{3n+1}, \quad z_{12n+4} &= \mu \left(\frac{A}{B}\right)^{3n+1} \\ x_{12n+5} &= \frac{A}{\alpha} \left(\frac{A}{B}\right)^{3n+1}, \quad y_{12n+5} &= \frac{A}{\beta} \left(\frac{A}{B}\right)^{3n+1}, \quad z_{12n+5} &= \frac{A}{\gamma} \left(\frac{A}{B}\right)^{3n+1} \\ x_{12n+6} &= \frac{B}{\lambda} \left(\frac{B}{A}\right)^{3n+2}, \quad y_{12n+6} &= \frac{B}{\mu} \left(\frac{B}{A}\right)^{3n+2}, \quad z_{12n+6} &= \frac{B}{\omega} \left(\frac{B}{A}\right)^{3n+2} \\ x_{12n+7} &= \beta \left(\frac{B}{A}\right)^{3n+2}, \quad y_{12n+7} &= \gamma \left(\frac{B}{A}\right)^{3n+2}, \quad z_{12n+7} &= \alpha \left(\frac{B}{A}\right)^{3n+2} \\ x_{12n+8} &= \mu \left(\frac{A}{B}\right)^{3n+2}, \quad y_{12n+8} &= \omega \left(\frac{A}{B}\right)^{3n+2}, \quad z_{12n+8} &= \lambda \left(\frac{A}{B}\right)^{3n+2} \\ x_{12n+9} &= \frac{A}{\gamma} \left(\frac{A}{B}\right)^{3n+2}, \quad y_{12n+9} &= \frac{A}{\alpha} \left(\frac{A}{B}\right)^{3n+2}, \quad z_{12n+9} &= \frac{A}{\beta} \left(\frac{A}{B}\right)^{3n+2} \\ x_{12n+10} &= \frac{B}{\omega} \left(\frac{B}{A}\right)^{3n+3}, \quad y_{12n+10} &= \frac{B}{\lambda} \left(\frac{B}{A}\right)^{3n+3}, \quad z_{12n+10} &= \frac{B}{\mu} \left(\frac{B}{A}\right)^{3n+3} \\ x_{12n+12} &= \lambda \left(\frac{A}{B}\right)^{3n+3}, \quad y_{12n+12} &= \mu \left(\frac{A}{B}\right)^{3n+3}, \quad z_{12n+12} &= \omega \left(\frac{A}{B}\right)^{3n+3}. \end{split}$$

Proof. The result follows by the principle of mathematical induction.

Corollary 3.1. If $A \neq B$ and A, B < 0, then the solutions of (1) are oscillatory and nonperiodic.

Theorem 3.5. Suppose (5) hold and let $\{x_n, y_n, z_n\}$ be a solution of the system of equations (1). Also, assume that x_{-1} , y_{-1} , z_{-1} , x_0 , y_0 , and z_0 are positive real numbers with A > 0 and B < 0. Then all solutions of (1) are periodic with period twelve.

EJMAA-2016/4(2)

Proof. Let (.,.,.) be the pair of solutions of (1), then the following set

$$\left\{ \left(\alpha,\beta,\gamma\right), \left(\lambda,\mu,\omega\right) \left(\frac{B\omega}{\beta}, \frac{B\lambda}{\gamma}, \frac{B\mu}{\alpha}\right), \left(\frac{AB}{\alpha}, \frac{AB}{\beta}, \frac{AB}{\gamma}\right), \left(\frac{A^2}{\lambda}, \frac{A^2}{\mu}, \frac{A^2}{\omega}\right), \left(\frac{\beta A}{\omega}, \frac{\gamma A}{\alpha}, \frac{\alpha A}{\mu}\right), \\ \left(\frac{\alpha B}{A}, \frac{\beta B}{A}, \frac{\gamma B}{A}\right), \left(\frac{\lambda B}{A}, \frac{\mu B}{A}, \frac{\omega B}{A}\right), \left(\frac{\omega A}{\beta}, \frac{\lambda A}{\gamma}, \frac{\mu A}{\alpha}\right), \left(\frac{A^2}{\alpha}, \frac{A^2}{\beta}, \frac{A^2}{\gamma}\right), \left(\frac{AB}{\lambda}, \frac{AB}{\mu}, \frac{AB}{\omega}\right), \left(\frac{\beta B}{\omega}, \frac{\gamma B}{\lambda}, \frac{\alpha B}{\mu}\right), \\ \left(\alpha, \beta, \gamma\right), \left(\lambda, \mu, \omega\right), \dots \right\}$$

is periodic with period twelve. This concludes the proof.

To see the periodic and oscillatory behavior of $\{x_n, y_n\}$, observe the following three diagrams with A = 1, B = -1, $x_1 = 1$, $x_2 = 2$, $y_1 = 3$, $y_2 = 4$, $z_1 = 5$, and $z_2 = 6$:



References

- [1] Cengiz Çinar. On the positive solutions of the difference equation system $x_{n+1} = \frac{1}{y_n}$, $y_{n+1} = \frac{y_n}{x_{n-1}y_{n-1}}$. Appl. Math. Comput., 158(2):303–305, 2004.
- [2] Oscar H. Criner, Willie E. Taylor, and Jahmario L. Williams. On the solutions of a system of nonlinear difference equations. Int. J. Difference Equ., 10(2):161–166, 2015.
- [3] Paul Cull. Difference equations as biological models. Sci. Math. Jpn., 64(2):217–233, 2006.
- [4] E. A. Grove, G. Ladas, L. C. McGrath, and C. T. Teixeira. Existence and behavior of solutions of a rational system. *Comm. Appl. Nonlinear Anal.*, 8(1):1–25, 2001.
- [5] Tarek F Ibrahim. Three-dimensional max-type cyclic system of difference equations. International Journal of Physical Sciences, 8(15):629–634, 2013.
- [6] M. R. S. Kulenović and Z. Nurkanović. Global behavior of a three-dimensional linear fractional system of difference equations. J. Math. Anal. Appl., 310(2):673–689, 2005.
- [7] Vjekoslav Sajfert, Jovan etraji, Duan Popov, and Bratislav Toi. Difference equations in condensed matter physics and their application to exciton systems in thin molecular films. *Physica A: Statistical Mechanics and its Applications*, 353:217 – 234, 2005.
- [8] Jovan P. Šetrajčić, Stevo K. Jaćimovski, Vjekoslav D. Sajfert, and Igor J. Šetrajčić. Specific quantum mechanical solution of difference equation of hyperbolic type. *Commun. Nonlinear Sci. Numer. Simul.*, 19(5):1313–1328, 2014.
- [9] Stevo Stević. On a third-order system of difference equations. Appl. Math. Comput., 218(14):7649-7654, 2012.
- [10] Stevo Stević, Mohammed A. Alghamdi, Abdullah Alotaibi, and Naseer Shahzad. Boundedness character of a max-type system of difference equations of second order. *Electron. J. Qual. Theory Differ. Equ.*, pages No. 45, 12, 2014.

[11] Nouressadat Touafek and Nabila Haddad. On a mixed max-type rational system of difference equations. Electron. J. Math. Anal. Appl., 3(1):164–169, 2015.

J. L. WILLIAMS

Faculty of Mathematics, Texas Southern University, Houston, Tx $E\text{-}mail\ address:\ \texttt{williamsjl@tsu.edu}$